This question paper contains 4 printed pages.]

YourRoliNo. .............o s

5239

B.A. Prog./ 1 B
™
ECONOMICS - Paper |
(Principles of Microeconomics)
(Admissions of 2005 and onwards)

Time : 3 Hours Maximum Marks : 75

(Write your Roll No. or: the top immediately on receipt of this Guestion paper.)

Note: (i) Answers may be written either in
English or in Hindi; but the same
medium should be used throughout the
paper.

(ii) The maximum marks printed on the
question paper are applicable for the
students of the regular colleges
(Cat *A’). These marks wiill, however, be
scaled up proportionately in respect of
the students of NCWEB at the time of
_posting of awards for comipilation of
result.
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Attempt five questions in all.

Ail questions carry equal marks.
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1. (a) What s the production possibility frontier 7
Explain its shape.
(b) Under what conditions can the economy be
(i)  Inside the frontier
(ii)  Outside the frontier ? 7,8
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2. Explain how the equilibrium price and quantity

of a goods are determined in a free market
economy. How will this equilibrium be affected

if
(1) income of the consumers increase
(i) real wages in the economiy increase (7, 8)
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What is the paradox of value ?

With the help of indifference curves show the
income and substitution effect of a price
change for an inferior good. Will the demand
curve be downward sloping ? (5,10)
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Explain the shape of the short run average
total cost curve. Can this fall when marginal
cost curve is rising 7 Explain.

Explain the principal-agent problem with a

* suitable example. (10, 5)
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Derive the supply curve of the industry under

‘perfect competition in (i) Short run (ii) Long

run. (7, 8)
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(a) Explain why the monopolist will not

(b
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produce in the inelastic range of the
demand curve.

Under - what conditions is  price
discrimination under monopoly (i) possible
{11) desirable. 7 (7, 8)
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(a) What is the relationship between marginal .
physical product, marginal revenue product -
and a firm’s demand curve for an input, .
when there is only one variable factor of .
production ? '

(b) Examine the impact of a tariff on price,
domestic production, government revenue
and imports. ' {10, 5)
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Write short notes on any two of the following

(1) Excess capacity

(i) Dead weight loss

(i) WTO - ‘

(iv) Factors affecting price elasticity of demand
(7%, 7‘/: )
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